do / dAn" [mb]
H
=

H
o
N

10

[EEY

Ratio to ATLAS

0.5

7000 GeV pp Soft QCD
—| I I I | I I I | I I I | I I I |—
= Rapidity gap size(pT > 0.4, h| < 4.9) =
- ]

S
- W, _
— u "*E 3
- g ]
- E‘.I -
| - "'.?il.! _
- ty, SEEEEssEsmOEREERRED
L 0-.0._’.* —
— oy _
— m  ATLAS N..,..’ .
_ --3-- Herwig 7.2.0 default .""0-.‘_‘ —
= ¢ Sherpa 1.2.2p default A=
==+ P e
R -3-88 7
- e ¥ +y Do :
* 3 By = O o

‘.""’ EBBE—H’ N

I AA.‘\ p—
.
| ». _|
‘..
B ’0...‘ )
.

| . . . | . . . | A . | . . . |

0 2 4 6 8

Rivet 3.1.0, = 5.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


